VERIFICATION OF FINAL COSTS - COLLIER COUNTY

PROJECT NAME:	Oystei	Oyster Harbor Phase 3A				
LOCATION:		Section 13, Township 51 S, Range 26 E Collier County, Florida				
NAME & ADDRESS OF OWNER:	8156 F	ster Harbor, LL iddler's Creek I s, Florida 34114	Parkway			
TYPE OF UTILITY SYSTEM:	SANIT	ARY SEWER (M	MATERIALS	S AND SERV	/ICES)	
ITEM	SIZE	QUAN.	UNIT	COST	TOTAL	
PVC Sanitary Sewer Main Manhole Singe Sewer Service Double Sewer Service PVC Forcemain (C900, DR 18) PVC Forcemain (C900, DR 14) Plug Valve Air Release Valve	8" 4' 6" 6" 6" 6" N/A	1029 4 3 11 268 55 1	LF EA EA LF LF EA	\$28.24 \$6,974.62 \$1,240.00 \$932.00 \$28.81 \$43.62 \$5,668.54 \$10,300.02	\$29,058.96 \$27,898.48 \$3,720.00 \$10,252.00 \$7,721.08 \$2,399.10 \$5,668.54 \$10,300.02	
		TOTAL CO			\$97,018.18	
I do hereby certify that the quantities of system being contributed to Collier Cou		ed above are a ti	rue and ac	curate repres	sentation of the	
Name:						
OF: Mitchell & Stark Const 6001 Shirley Street Naples, FL 34109	ruction Co., Inc.					
STATE OF FLORIDA COUNTY OF COLLIER						
The foregoing instrument was signed a who is	nd acknowledged personally know	before me this not be the before me	2 day o	of <u>Fr.J</u> roduced iden	, 20 <u>/</u> by tification	
Type of Identification Produced			e i	· ·		
B. Rotary Public	<u> </u>	Seal:				

VERIFICATION OF FINAL COSTS - COLLIER COUNTY

PROJECT NAME:

Oyster Harbor Phase 3A

LOCATION:		Section 13, Township 51 S, Range 26 E Collier County, Florida					
NAME & ADDRESS OF OWNER:	8156	FC Oyster Harbor, LLC 8156 Fiddler's Creek Parkway Naples, Florida 34114					
TYPE OF UTILITY SYSTEM:	POTABLE WATER (MATERIALS AND SERVICES)						
ITEM	SIZE	QUAN.	UNIT	COST	TOTAL		
DR-18 PVC Watermain	8"	1208	LF	\$21.06	\$25,440.48		
DR-14 PVC Watermain	8"	0	LF	\$0.00	\$0.00		
DR-18 PVC Watermain	10"	264	LF	\$31.55	\$8,329.20		
DR-14 PVC Watermain	10"	45	LF	\$38.68	\$1,740.60		
Gate Valve w/ Box	8"	3	EA	\$1,771.50	\$5,314.50		
Gate Valve w/ Box	10"	3	EA	\$2,354.50	\$7,063.50		
Fire Hydrand Assembly w/ Valve	N/A	5	EA	\$4,545.10	\$22,725.50		
Single Water Service	N/A	8	EA	\$979.81	\$7,838.48		
Double Water Service	N/A	8	EA	\$1,137.31	\$9,098.48		
Temporary Blow Off	N/A	1	EA	\$4,258.27	\$4,258.27		
Automatic Flushing Device	N/A	1	EA	\$7,598.27	\$7,598.27		
Testing & Chlorination	N/A	1		\$7,832.27	\$7,832.27		
Permanent Bacteria Sample Point	N/A	1	EA	\$5,492.27	\$5,492.27		
		TOTAL CO	OST		\$112,731.82		
I do hereby certify that the quantities of	f material describ	and ahous are a tr	ue and ee	aurata rans	santation of		
the system being contributed to Collie		bed above are a ti	ue anu au	curate repre	esemation of		
CERTIFYING:							
\ X /							
1 x1							
Name:	Service of the servic						
OF: Mitchell & Stark Cons	truction Co Inc	a.					
6001 Shirley Street							
Naples, FL 34109							
STATE OF FLORIDA							
COUNTY OF COLLIER							
COUNTY OF COLLIER				\$el			
The foregoing instrument was signed a	and acknowledge	ed hefore me this	25 E day o	of FEI	_, 20 /d by		
DAJIA C. SCAFIDE WHO!				oduced ide			
The state of the s	o perdonally kno	wii to the	OIX WIIO PI	oduced lue	illication		
Type of Identification Produced							
Type of Identification Froduced				,			
Si Si							
In lin		Seal:		A - A Transition of the land in the land	NEW TO PRODUCT OF THE PROPERTY		
Notary Public		otal.	¥		LUSOA BURGBACHER CHANESION # FF 162074		
Notary Public				角性 歌	IRES: January 22, 2019		
			THE PERSON NAMED IN	Christian Bonde	Win Maleri		
			1	ACCOUNT CONTRACTOR OF	THE SHAPE NAMED IN		

CERTIFICATION OF CONTRIBUTORY ASSETS - COLLIER COUNTY

CERTIFICATIO	N OF CONTRIBU	IIUKI ASS	E13-C	JLLIER C	JUNIT	
PROJECT NAME:	Oyster Harbor Phase 3A					
LOCATION:		Section 13, Township 51 S, Range 26 E Collier County, Florida				
NAME & ADDRESS OF OWNER:	8156 Fic	FC Oyster Harbor, LLC 8156 Fiddler's Creek Parkway Naples, Florida 34114				
TYPE OF UTILITY SYSTEM:	SANITA	RY SEWER (N	MATERIAL	S ONLY)		
ITEM	SIZE	QUAN.	UNIT	COST	TOTAL	
PVC Sanitary Sewer Main Manhole Single Sewer Service Double Sewer Service PVC Forcemain (C900, DR 18) PVC Forcemain (C900, DR 14) Plug Valve Air Release Valve	8" 4' 6" 6" 6" 6" 6" N/A	1029 4 3 11 268 55 1	LF EA EA LF LF EA	\$15.76 \$4,657.00 \$316.50 \$316.50 \$14.07 \$10.52 \$1,484.00 \$5,300.00	\$16,217.04 \$18,628.00 \$949.50 \$3,481.50 \$3,770.76 \$578.60 \$1,484.00 \$5,300.00	
		TOTAL C	OST		\$50,409.40	
I do hereby certify that the quantities the system being contributed to Col CERTIFYING:		above are a r	inc and ac	ourate repre	serialum or	
OF: Mitchell & Stark Co 6001 Shirley Street Naples, FL 34109	onstruction Co., Inc.			e.		
STATE OF FLORIDA COUNTY OF COLLIER						
The foregoing instrument was signed DAVID SCATIA. wh	ed and acknowledged no is personally known	before me this	//e day OR who p	of <u>Feb</u> roduced ider	_, 20/8 by tification	
Type of Identification Produced				•		
A Sotary Public		Seal:		BELINDA B MY COMMISSI SE EXPIRES LIA	UPGDACHER IN 18 100 ST	

CERTIFICATION OF CONTRIBUTORY ASSETS - COLLIER COUNTY

PROJECT NAME:	CT NAME: Oyster Harbor Phase 3A						
LOCATION:		Section 13, Township 51 S, Range 26 E Collier County, Florida					
NAME & ADDRESS OF OWNER:	8156	FC Oyster Harbor, LLC 8156 Fiddler's Creek Parkway Naples, Florida 34114					
TYPE OF UTILITY SYSTEM:	POTA	POTABLE WATER (MATERIALS ONLY)					
ITEM	SIZE	QUAN.	UNIT	COST	TOTAL		
DR-18 PVC Watermain	8"	1208	LF	\$10.01	\$12,092.08		
DR-14 PVC Watermain	8"	0	LF	\$12.13	\$0.00		
DR-18 PVC Watermain	10"	264	LF	\$16.74	\$4,419.36		
DR-14 PVC Watermain	10"	45	LF	\$23.68	\$1,065.60		
Gate Valve w/ Box	8"	3	EA.	\$648.00	\$1,944.00		
Gate Valve w/ Box Fire Hydrand Assembly w/ Valve	10" N/A	3 5		\$1,031.00	\$3,093.00		
Single Water Service	N/A	8	EA	\$2,291.00 \$421.00	\$11,455.00		
Double Water Service	N/A	8	EA	\$578.50	\$3,368.00 \$4,628.00		
Temporary Blow Off	N/A	1	EA	\$916.00	\$916.00		
Automatic Flushing Device	N/A	i		\$3,256.00	\$3,256.00		
Testing & Chlorination	N/A	i	LS	\$0.00	\$0.00		
Permanent Bacteria Sample Point	N/A	1	EA		\$1,150.00		
- *		TOTAL C	OST		\$47,387.04		
I do hereby certify that the quantitie the system being contributed to Col			rue and ac	curate repre	esentation of		
Name:	Professional and Restrict to the Restrict Society and Professional Soci						
OF: Mitchell & Stark Co 6001 Shirley Street Naples, FL 34109		c.					
STATE OF FLORIDA COUNTY OF COLLIER				200			
The foregoing instrument was signed DAv. D Scafed. wi	ed and acknowledge no is <u>personally kno</u>	ed before me this wn to me	<u>Le</u> day o OR who pi	of <u>Fe6</u> roduced ide	_, 20 <u>/8</u> by ntification		
Type of Identification Produced							
A hu- Notary Public		Seal:		NY COMM NY EXPIRES	MA BURGBACHER JISSION # FF 162074 Lanuary 22, 2019 Relay Public Underwriters		